[ 1
1.
55.00
2. 1.00 0.80
110 [ < 2 1
3 LO
SL0 814.00 L > L0 ]
LO 7.40 m/
L0, - m/
L0, - m/
L0, 7.40 mw/
L0, - m/
4 L, (L2)
SL1 704.00 [ < L1 ]
L1 6.40 m/ [ Lo L2 ]
L2 1.00 m/
5.
@
D ) A
<X AXx( ) 1.70 >< 1.00 < 1.00 2 =< 0.2 < (1 0.2 0.204 k&/m 204 €/m
C(HI (B)> (h)y> )/
A A 20
0.2
@
SLix 704.00 m > 2048/m 143,616 € ( 143.616 k& )
Qs 143,616 ¢ 110 1,306 €/ ( 1.306 ke&/ )
6.
(€1 IR
( 10 ) .. [ 1
@ « )
ke 1,0008
T
150kg 1,000 €
450 £ 500 €
[ ] 143.616 ke < 150kg/ke = 20 kg/ 1077
r [ 1 7
37/
L J
7 ( )
@66
.2
(@)
)
- - 9.00 - 9.00 3 3 1
- - 9.00 - 9.00 3
- - 18.00 - 18.00 6 -0.5m




